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Elementary Laplace Transforms

f(t) = L7HF(s)} F(s) = L{f (1)}
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27. Solve y" 43y’ + 2y =4w(t), y(0)=0,y'(0)=1
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28. Find the solution of the initial value problem y" + y=4(t — 7), y(0) =0, y'(0) = L.
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29. The inverse Laplace transform of F(s) =

A, uy(t) (e teos2(t — 1)) — %e sin2(t — 1) B. (e"leos2(t - 1)) — %e“"’lsin?{t — 1)
C. uy(t) (e Teos2(t = 1)) = 2 'sin2(t — 1)  D. up(t) (e cos2t) — S 'sin2t
E. u(t) ( “Hleos2(t - 1) — e sin2(t - 1})

L 4 £ it ootz 75 )Tca/.

ast b ==H =
Quadratic— (:%r)a + sﬁ_,’» i+ real ot fe/czmzw/
( é"L ’I Z
Omf/med;ww{
S o < (S"/' /) "/
6= s’%U'ﬂ);qL 4 (st1)'# F
Cs+1) L o
Gy 2 2 (Y + 2
= [l — Lt S Qtj
‘\_/\/\
9(£)

F(S) = els G($> %[uc ({;),ﬁ({;»c?]: 8/55 Fé)

fos - L) u(e) 9 (1)
/(4—. =) /(-l: )
= y &) Cos A1) — Sin J(é'/ﬂ



(S 2)%* (Cps 3t) 2 P

‘ —T 5 2,2+
30. L {.[3 sin2(t — 7) cos(37) d-r} = 3 +2° S+ 3
A‘/ 2s 2 8§ 1 5 2

. B. C. D.
FT0219) Fi1 F19 Il 19 Fr0=19)
5

E. (s +4)(s* +9)

M9 = l\ét\ ,7(0);0
/ ') =0
/
/N _ ] = /e
L) = 5"Hs+| -
< %(’): < ét)% P
’ P

\{
- (\/jc‘v
A
3
‘&
\
N
AN




2 -1

31. The phase portrait of the system x'(t) = ( 1 9 ) x(t), whose general solution is
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. D 1. A 2. C
2. C 12. B 2. C
J. A 3. A 23 A
4. D 14. D 4. D
b C 15 D 2. B
6. B 16. C 26. D
. B 17. E 2. B
8. D 18 D 8. C
9. C 19. A 2. E
10. E 2. A 3. A
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